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10.

11.

13,

14.

15,

16.

What is the meani “the idi
tis the meaning of the idiom “turn the clock back’?

&Q  Torestore something to a former condition
(2)  To waste time

(3)  To turn off the alarm clock

(4)  To do things with a jet speed in future

Identify the correct form of the following sentence to be converted (O direct speech.
“They told us that they would start the admission process the following day.’

(1) “We will start the admission process tomorrow,” they told us.

(2)  We told them, “They will start the admission procéss tomorrow.”

(3)  “We would start the admission process the next day,” they told us.

(4)  We told them, “We had to start the admission process tomorrow.”

Fill in the blank with an appropriate article in the following sentence.

Past glory and education don’t count for much. We have to continuously sharpen __ axe.
(1) ~An (2) The 3) A (4)  No article is required

Identify the correct idiom which means ‘accurate information’?
(L~ Chapter and verse (2) Closed chapter
(3) Dead and buried (4) Caught in the crossfire

Fill in the blank with correct preposition in the following sentence.

He gaped some developed countries in wonder for their vast materialistic progress.
(1) At (2) Away (3 On 4 Over

Fill in the blank with an appropriate article in the following sentence.
People without conviction do not take stand.

9 A (2) An

(3)  No article is required (4) The

Fill in the blank with an appropriate form of the verb given in brackets to make it a meaningful sentence.

Unlessyou __________(read) today, you cannot be a perfect person tomorrow.

(¢~ Are reading (2) Read (3) Had read A47  Have read

Fill in the blank with an appropriate pronoun that agrees With the subject in the following sentence.

. : Heyiits ia has been X : {01
The biggest achievement of Digital India has —— " trefrietidous ‘suceess in’ ensiring  digital
inclusion for all in India.

(1) Is (2) Are A Has (4) Does

K-13241-P11-ET 3-A TR
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‘ Y . ing sentence.
17.  Identify the correct synonym of the underlined word in the following se

Hlustrious people seem to light up everything around them.
(1) Eminent (2)  Obscure ((}/)( Notorious (4) Obsesse
I18.  Fill in the blank with correct preposition in the following sentence.
2
Steve Jobs said, “Innovation distinguishes a leader and a follower.
\,l.)/ Between (2) From (3) On (4) About

19.  Identify the correct antonym of the underlined word in the following sentence.
He was fishing for a squid with pals in shallow water.
(1)  Shoal (2)  Superficial 435 Deep (4)  Skin-deep

20.  Identify the word with correct spelling from the options given below.
(I)  MANOEUVRE ‘(’5 PRONOUNCIATION
(3) CONSCIENSCIOUS (4) CHANGABLE

Read the passage given below and answer the questions (from 21 to 25) that follow :

The beginning of this fun-filled season with the sun hidden behind the grey clouds brings cheer to many of us waiting
eagerly to splash in the rains. Ofcourse not everything about rain is glamorous. Especially when you think about
endless traffic jams, the bad roads dotted with potholes, uncleared garbage and the spate of water borne diseases.
Also viral infections like cold and cough make their presence felt.

Most infectious diseases prevalent in the rainy season can be prevented by simply washing our hands regularly.
Scrubbing hands regularly with water and soap can prevent us from contacting respiratory and diarrheal diseases.

Kids have a lower level of immunity and hence hand washing becomes a crucial part of their lifestyle. When playing
especially during monsoon season kids come into contact with germs and can unknowingly become infected simply
by touching their nose, eyes or mouth. The Food and Drug Administration stat
survive on surfaces for up to eight hours, making people susceptible to catchin
surface. Hence repeated hand washing is required.

es that the human influenza virus can
g it each time they touch the infected

To make the best of the rainy season we should follow some simple guidelines.‘@rst of all if we decide to get wet in
rains we should change into a dry set of clothes at the earliest) Also we should keep raw food items at bay and wash
vegetables and fruits thoroughly before use. Moreover, strict kitchen hygiene should be maintained in order to enjoy
one of the most beautiful seasons of the year. Also, in order to have a trouble free rainy season home made fresh food
should be given preference over the fast food sold in the market.

21.  People wait for the rains since they can in it.

7 splash (2)  have potholed roads
(3)  spate of water borne diseases (4)  endless traffic jams

22.  Besides maintaining kitchen hygiene we should SO as to keep us disease free in the rainy season.
(1)  avoid raw fruits 421 enjoy raw fruits
(3)  avoid vegetables (4)
K-13241-P11-ET
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23, After getting wet in rains we should put on dry clothes
() sABEHEE i)r whenever we like to
(3) as &‘RHAI.\' as Pn.\‘gihlc (4) soban we |£I” Si(-'k

4. The passage suggests that small children should wash their hands —————— the rainy season since they

have lower immunity.

(b frequently (2) rarely (3)  after every meal  (4)  before every meal

. : b -
25, The word in the passage which means the same as ‘prone and vulnerable’ 1s

(1) dotted }%’ hygiene (3) susceptible (4)  influenza

- .
2%. Let A,B,C,D represent the marks of four students respectively. If the average of A,B,C 15105, B,C,Dis

"

2 : 1 ! 2
13—: C,D.A1s 125; and D, A, Bis llg;then 5(C-B)=

v 1
A.B.C,D $83t° Senthdd dgher 55260 BrQroHoomro. A, B,C®O B, Sefen 105,

1 v 2
B.C.D © Q3nE); 66&»132; C,D,A © GBn¥) 66&»125; $80H D,A,B © GBuE) &6&»11590133
] - 3

5(C—-B)=
(1) D+A-B-C 2) 3(D-A)—(B+0O)
(3) 2A-D 4 D-A

27.  Letn be a positive integer and n < 193. If n and 193 are coprime numbers, then the sum of all possible values

ofnis:

n 28 & ?Q)’(g‘ogo INVleTo Voo rﬁ 03. ©eH%00mro. N aDOCKW _123 YRGS AN éo—a)jf)gpé 9 i}’ész)é o),
Dendse) ais), o :
(1) 18528 @) 18336 @) 18527 4 6240

28. A Shopkeeper spent 20% of his profit in a particular month towards wages of his workers. From the remaining
profit he spent 10% towards his shop rent and 40% towards his family expenses. He then saved the balance
amount of Rs.50,000 in a bank. Then the total amount he spent towardsg wages and rent is (in Rupees) :

28 Srsoramrtischs 2.8 PR SO e0e5D8 SRS TH0S” 20% wesd < s s B R NS
Bt enafos® o006 GrOS! 10 TERY S EENID D000 40 e wesd rtmvons o 7
Syourch. e estoares DOOS 50.000 KOS EPSBE® Smitssty Bty oo eselch IETOD
538050 et QoS Bwefo AERY (GrrofHOS’) :

(1) 25,000 w/ 35,000 (3) 40,000 B e
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, =35then 3a+2b—-c=
29, If a:b=3:4, bic=4:5a+2b=55and 3b—« o | &8 3a+2b—c
FA 8 a. . g 0e8 3a + —C =
Q83 a1b=3:4, bic=4:5a+2b=5500080 3b-c=35®
3) 50 SR
1) 60 2y 45 )
i d is reduced b
. e tarted from A. But its spee Y
30. The distance between two stations A and B I? 480 km. A C;ll;.S Z;fof ceacling the deatitationiitis AN
v 20 kmph than it’s usual speed due to road trafh(.: and th? us'ua im |
gﬁ/ by 2 hours. Then the usual duration of the total journey is (in hours) : P
7/( B0t JdFe A HBAM B © Bty e 480 8.2.e0. 28 508 A 308 220$He0B808; S° 38V PO o
e D00
TR Stfo TN Aegeses Stfo Kol HoertH 20 8.0 SRS BhoB 5005 98 feSag oS0 B D 0
TEGes D3oako o 2 Kotven 2BAOA. oS K8 HOSFETIS HE Aogrtes sPe SBA(otreres”) :
’ 1
>&> (1) 6 (2) g 38 “) 75 ? *>w
® V< g AR O St
31.  The day of the week on 5 September 1887 was : e o \‘3’ "g 3 A
(1)  Sunday (2)  Monday (3)  Tuesday (4) 7YSaturday \/\rs/
1887 2200206 55 306065%) & B°:Sye08F a3 8% - L
(1) esBa>8%0 (2) D0 3B)  SoH¥aeso A7 8o
32.

A started a business by investing Rs. 5,25 ,000. At the end of 5t
B joined A by investing Rs. 4,32,000 and at the end of 8%

and B by investing Rs. 6,30,000. If C’ g share in th
Rs. x more than B’s share then x =

month from the commencement of the business
month from start of the business C joined both A

e profit at the end of the yearis Rs. 50,000 and A’s share is

QoS eresoest J°¢3° 50,000
NI, x =

1) 60,000 227 75,000 (3) 50,000 @) 65,000
33. A Candoa work in 6 days and B cap ¢ the same work in 9 days. A and B along with a thirg person C can

finish that work in 3 days, If the total wages for the work is Rs. 24,000 then the wages of C is (in Rupees)

A 28 :,:::a 6 B2r0é5® Basifercs, D% B g $92 Beros® Saherss, 4 80 B exy Sayeesss $58

C & 502 0B 51D 3 Bereres® R Baeferss, ag B8 g Ieave Bweso 24,000 5S¢ @Bt

36&0(6?@053065) x : QLM

(1) 12,000 2) 8,000 A 4.000 4T 6,000

O
9
K-13241-P11-ET T O
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3.

36.

3

38.

A rectangular track of 5 meters width is made round a circular field such that each of the inner
side of the track touches the field at a point. If the area of the field is 61'609 square meters and
the cost of forming the track is Rs. 100 per square meter, then the amoUMt (il ES R ee
for forming the track is

2.8 ESTCD Yozl S 2.8 B SHEF 6L reriso T &% e HBO Yo o€ Dotkosy
SN @gé"%” 5 3)3909, Sese)e8’, 208 2300y QBoerethd. Heo B8y STOFO 61,600 &.80. ﬁbeogom &G,
eexSo DGOSR 5. Qoesehris 100 Srmdeaten gy wond, B0 JQPIETRS SHOVS Jugo
(ErdroSHreres®)

(1) 435,000 (2) 17,56,000 (3) 5,70,000 (4) 6,75,000
75-32+23x570+15 of 2+(37-7+5)=

2+(37-7+5) B, 75-32+23x570+15=

(1) 505 2 1729 (3) 5041 (4) 1816

A, B, C, D are four persons. A sold an antique to B, B sold it to C and C to D. The price of antique rised on
the whole by 80% when it is bought by D. A earned 25% profit and B earned 20% profit then the profit earned

by Cis: ’
A B, C, D Senthids $58re0. 2.8 {omSipiddo B HA,C HB S0 D &C Donoedd. D 338

Sureko Dot & TSR B, B 80% 2BAOB. 25% &) A 0050 20% ever) B Brotrtd. @ond

C 8°odS ergfo :
(1) 15% 2 20% 3 30% 4) 35%
The present age of A is thrice the present age of B. 5 years ago, the age of A was square of the age of B at that

time. But 10 years hence, the age of A will be twice the age of B at that time. Then the present age of A (in

years) is :

A @8, SR0e5 SO B G008, B SOOI Koy Sen(hosee §o A Ging, S0 8
B Bw¥); ;;'SJKDQ G, S8 585950, 590 BYES $20G HO Doedyore) esTrges, A B, SAH) [PEONN
0c5> Bé. @0nd A B, S D) (SoSesyoreres®) :

B &nE), s’:oﬁa:(ngéa
2) 20 3 18 @) 30

M 9

i i 1 .
By selling an article with a discount of 25% on 1ts marked price, a trader gets a profit of 12 E %. If the discount

is 30% on its marked price then the gain percent on its cost price s :

28 S0y TR HE3eS (56 25% &S00S B 28 968 1o % . o Sipo, o 5548 552
%) Sost) 30% wand o Y B S T oo :

1 1
1) 10% Gtz ) 35 % 4 5%

K-13241-P11-ET 7-A [T
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43.

45.

47.

46.

A train can cross a platform in 18 sec with its usual speed. It can cros® the same platform in 15 sec if its ysyg]

speed is increased by 15 kmph. If the length of the platform is 17 times that of the train, then the usual speed

L

(in kmph) of the train is :

28 B AGtses Stiods® 2utf JreSSI 18 Defogges® mreaiO: o dGrdes SR oerth 15 8. &y,
SXYS DoDE ©0F FEIEr0 @ e 15 Do crestiers. € FEFR B, SPEH Jen FEHS 1%

B&ONE, Fen B, AGEEs S50 (obrtH 8.9.00¢5) :

(1) 60 2)" 75 B 85 4) 100

B x= \/3080 + \/3080+ ,/3080+,.. tow,y= @0@0@0 to © and x + y =z, then \/z\/z S
B J3080+ 3080+ /3080 +...t0 0, y = \/200\/200\/%0... 0 o $0050 x+ y = 2, B2z =

(1) 64 (2) 128 (3) 256 4 512

A watch loses 5 min in every 24 hours duration and another watch gains 3 min in the same duration. If both
the watches show identical time °t’ at a particular point of time, then by what time duration (in days) they both
show the same identical time ‘t’ again in near future ?

DB 24 Hoow égé@é‘ 28 BGase8o 5 AN ?éﬂ)eﬁoo& SoB0%n 3 égééé‘ So8°E eS8
3 Daren o7z Htrekrod. Boch BEAKTTRED 28 JOR DS00HoeS® 2,8 H5aHo T D PR, DD
EDHGES® e Both HAESPTReN & B0 SgSAS° (Eeres®) 539y 8 dooo ‘t’  Srpe@ran ?

(1) 90 7 120 (3) 180 4) 240

The divisor of 7280 among the following is :

808 ae3e5® 7280 BwE), ge38o :

(1) 119 (2) 264 3) 117 @) 182

A sum of money invested at interest, compounded annually, amoyp¢ i
} s to i and Rs. 8192in3
years. Then the sum of money (in Rs.) invested is : Rs. 7680in 2 years and K

DT SEHGE AdgwdS B Arsy 2 SoSdyorest 76g) SraroHe Rwedorrdr S805» 3
Roehyores” 8192 drarafe Sudorrir @ongo8. @S Beyedms 2 835 Aoy (EraroHed®) :
& ) i

(1) 3,500 (2) 5,800 3) 6
(3) ,750 @ 2250

K-13241-P11-ET :
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48.

50.

Si.

S2.

ama work | ays and 12 children ;
wn do a piece of work in 12 days, 9 women can do the same work in 16 dhdyﬂfc iy " 1can doj
8 men can do ¢ = EARES o r for 3 days. If on
in 24 days. 6 men, 12 women and 18 children started that work and worked l(_)gi]t -E,: ; 2 Y Womey
Bt e the remaining work on 4" day, the number of women required 1s -
have to complete the remaining work on 4™ day, p
§ K300 DHE 28 HID 12 Bererd® 1 SoOE; ©F HIR 9 100 Je 16 Eeres” Jobifed, wy

5 9
D12 008 Hegex 24 Beweres® G0 BT, 6 08 e, 12 H108 Qe HOADD 18 S0l Heey

5 “
& S 0D, TGt EOB 3 Baren HA Baeth. DAOS HA 48 B2 SH5v0 Yo SrgD pg
SAHIO B, &955(3(5:630‘&)3 Sgo Dog :

1 9 2) 54 () 242 4) 24

” 2 2

If x,y,zare any three non-zero real numbers such that x* — Y=z
) -1 =l -1

(.\'" +1) +(y2+1) +(z2+1)

X4—y2=z

4 2 2
,y4—Z2=)C2 and z —x = Y~ then

2y =22 = 2 sobasn 2t -xt = ¥ Ggee0 &) IJT° Bk APIFES RS Somgen
-1 -1 -1
X, V.2 Q0 90N, (x2+1) +(y2+1) +(2.2+1)

|
1) x2y2e? ) e G) 0 @ 1

o th _
0.7is multiplied by itself and that result is divided by (z] part of the reciprocal of 0.8. If the value thus

obtained is x, then 9\/— =

0.7 % o Bes3 tHredoese S @, 0.8 S, QY 900e5°® 5 S getiond afowrth. es DeSorm

SENS Dend x ewaned 9\/— =

1) 0.5 2) 14 3) 0.6 @ 16
Identify the brother of Prataparudra IT who settled in Bastar district after the fall of Kakatiyas,
(1)  Jagadeka deva (2)  Annama deva

(3)  Sudharshana deva (4)  Prasaditya deva
5PEH TSR HST HoestB) %6 e3eres® :)an.‘();i)d‘bdzﬁoé)é& B0tésd HEHDBEHD BB DSKy?
(1) 2365838 35 (2) xS BHes '
(3)  RoesES Bspesd 4y I Besg Bsyess

Who introduced “Nauroz’* festival in the court of Delhi sultanate ?
(1) Itutmish (2) Balban
(3)  Allauddin Khilji (4)  Ghi i
g yasuddin Tughlaq
(23 ,\»gv:éae;ﬁc'gs &° BESNE5ES Aog T8 Hotkatiss é«?ﬁ%?og:}c‘s Q0P NSSH?
(1Y agef 2)  evens .
B)  worads Hd

4) HASTROQS (5§
K-13241.p11g7
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53.

\ v 4 A , ly is known as
I'he exchange rate is determined by the market forces of demand and supply LA PR . | -

(1) Floating exchange rate (2)  Fixed exchange rate

(3)  Arbitrary exchange rate (4) None of the above
Srg S $Ho Bk, Alrod wob K3 wrrbor davod Hr8)% G0
(1) eS0h SrA &8 (2) DB SrBye nle}
(D8I Sed& &8 @) DI 5%

534. Identify the plays written by Harshavardhana.
(1) Harshacharitra, Charudatta and Naganandam
(2)  Priyadarshika, Ratnavali and Naganandam
(3)  Priyadarshika, Ratnavali and Shakuntala
(4)  Kadambari, Shakuntala and Ratnavali
f&gége&b;ﬁ Dofdsn BaHaadS Trerstneds HBocsadw.
(1) S°gS0e, AL VAT BNV Tos RN Lo NI TN
(2)  DOHEGE, B&%SP 0805w TS0
(3r DODHEHE, E&%HD HoBas» FHode
(4)  seSo28, FHode SHBASH E&)HP
55. Plaster of Paris (PoP) is prepared by heating which one of the following mineral at a temperature of 100°C?
& 8oB oS 3D 100°C &Y 3& Sohiso rgoe b e A0S (PoP) ot Sabaieon?
@)\ CaSO:2H:0 (2)° CaSO0s2H,0 (3) CaS0:2H,0 (4)  CaSOH.0
56. Name the Afghan leader who strongly supported Rana Pratap Singh in the battle of Haldighati in 1576.
(1) Hasan Khan Mewati (2) Hakim Khan Sur
(3)  Nusrat Shah (4) Munim Khan
£.4.1576 S05e8y506° @58 05G0S’ TP SED Bob © HIPADNDHES RS Trahhen AHE?
(1Y 50 gom el (2) &8 IS Jdb
(3) HopS (4) S0 grS
57. Which one of the following Indus Valley Civilization site does not have Citadel?
(1)  Kalibangan (2)  Lothal (3)  Surkotada (4)  Chanhudaro
2ot IBESS Borofodis & By (Site) % (Citadel) €8 ey 9
(1)  s®eolsS 2) &S (BY” K08 twes @) Spee
58.  Earth’s core is also known as :
(1)  Lithosphere (2)  Hydrosphere
(3) Mesosphere (4)  Barysphere
25 e0e507)15500:8) B8 DeSor E3v¢E eotzethd
(1) Rerdbeso (2" 2erSEe0
(3) A es58€e30 (4) &ro° S8eao

K-13241-P11-ET 11-A [T
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59.  As per the constitution of India, how many Members of Parliament (MPs)

memberships are allotted for Indig,
Parliament ?
1) 552 () 543 (3) 529 (4)  None of the above
8 orergotio Psto Ineso Y & KeS Frre Heigessnesy grdes 9ot Seomoses,
230008 ?
(1) 552 @ 543 3) 529 @ 23D
60.  What is the theme of Nobel Prize Summit 2023 to be held in May 2023 and where will it be held ?
(1) Bio Diversity & New York City
(2)  Environmental Protection & London
(3)  Truth, Trust and Hope & Washington D.C.
(4)  Disaster Management & Delhi
S e 2023 D0 E0eS® 35 298 _ARS (R&55°B%0) 2023 & ABRPorseats808d. &3 K)&gés B,
QTS P08 DS So805) &s DARE D) ¢ ABI0cseasK08 ?
(I 85 SNesgo (22 @358y483) $5r805w Soegasrd),. e
(2)  HorgHsEs HOGKED (DTS Iv0eres DFEBES) 08050 ©0tS
(3)  RDesgo, S8R0 S8 )6 DBIV0 (€065, &R ®ok D) 58050 302066S &.5.
() DL DgErea (Gerid HIE08) SoBosw &
61. Which among the following substance is expected to have the highest ignition temperature ?
(1)  Alcohol (2) Coal (3) Kerosene (4)  Petrol
&3 808 5°636°  DTPosS® @esgHS a3gers RIS SO 000t @orse SaHzxGoed ?
(1) ese) 665 2y & 3) 88%S @) 86

62. Related to environment the term SMOG can be defined as
(1)  Ozone and Smoke (2) Sound and Fog

(3) Sound and Ozone (4) Smoke and Fog

HOegSEETRS $0250800 SMOG @98 Hedd NBgeSSo .
(1) &N 0005 %S

(2) 3rob H5805» arh
(3)  3ro& 50050 LB (47~ 295 £805 aH
K-13241-P11-ET
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74.

75.

76.

77.

78.

Identify the Indian-origin leaders across the world.

(1) RISHI SUNAK only (2) KAMALA HARIS only
(3)  PRAVIND JUGANAUTH only 4)  All of the above

&3 800 e365° grties Surerend) Hdocs Frow FPOHHOD (5rgocSoss
(1) 8% BoaeE Sresaddy (2) oo 965 SPED
(3)  HVob TS Ssrghsd (4 DI

The Stock Market Index of Indian Stock Market is knownas___—

(1) Brent (2)  Sensex 3) N ASDAQ (4) None of the above
o5es o5 S0) & B, S @92 e90tTEd.
(1) Bo& 2 Y (3) orE(NASDAQ ) REREL

Identify the wrong pair about Vardhamana Mahavira.

(1) Siddartha — Father of Mahavira
(2)  Trishala - Mother of Mahavira
(3) Yashoda — Wife of Mahavira
(4) Jamali — Cousin of Mahavira

HEBT0 HILBFICVD 50230B0DE0BESEL HOS e3¢5 (HGoS.
(1) g — HBAH By ol

2) B — SO By, S

(3) oH% - SPDED B, 208

(1) BETO — STV ooty AFGEE

In which city, Global Investment Conclave 23 (GIC23) is scheduled from 12" April, 2023.
(1) Ahmedabad (2) Hyderabad (3) Pune (4) Delhi
] B3RS 570§ 23 (GIC23), 2023 DHS 12 & & HE0e5® FroefeSntHs ?

(1) @3‘&0“23‘5 ) ;,5_%50"33"5 (3) Dred @) é@
The ballpoint pen works with the principle.

(1)  Laminar flow (2)  Intro molecular force

(3)  Surface tension (4) None of the above

23S on0tS DO Loeebo eggrBore O BR008.

(1)7 eoaeb Haseo (2) 0888 HOSJea)y H&

(3)  eSeresdges @) DI s
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81.

82.

hich place Maratha ruler Shambaji along with his prime minister Kavikalash arrested by the Mugha]sin
At which place ars t ALl s
1689 7

Iy Raigarh (2)  Rajapur (3) Sangameshwar  (4) Bahadurgarh
L ey [\\{;;\\{Q) 200N Hog3ee8D B0 @30 HEPH0E D585 é.r%’. 1689 €5° Satfenen D éa.gw

ooy ?

(1Y oooHsE (2)  orersyrd (3)  Dotiaddgd (4) 25eErbH6E

Which of the following material is used for dental fillings that is an alloy of mercury?
Amalgam (2) Solder
3) Bronze (4) Brass

& 508 ES® $o8385% Bogrerndd VoD &°@E eSS NS0 NE?
(1)*" 50 (Amalgam) (2) @080 9550 (Solder)

-~

(3)  So<d (Bronze) (4)  =x¢8c (Brass)

Whicl

1 Moghul Emperor made Portuguese rulers angry by welcoming the English Captain Hawkins ?

Muhial-Din Muhammad (2)  Jalal-Uddin Muhammad Akbar
Muhammad bin Tughlaq (4)  Mirza Nur-Uddin Mohammad Salim
= Su$d o, sofjosven (H8]) S 8 © Aglito HOY DR FrerHe &IS58 se8eso

@o&s°§c€o ?
(1) éw&roﬁ:&&S-Bwés%o&&

2y eserendS SNHABTA EERS
(3)  Bwsriyh OF b

@) Doge Sr&ES 30dns SO
The process of combination of two or more different companies into a single company in which both the
companies lose their identity is known as

(1) Merging

(2)  Amalgamation
(3) Takeover

(4)  Joint Venture

Both SB56> Sotrden EO 2,8 Kot B Barodsto Bod o SO OIS Botd oden T°¢3 &I
LB E'E\GS DEED  woewtsy .

(1) D&ibSo (Merging)

(2)  K3p#Se (Amalgamation)
(3)  Mghido (Takeover)

(4) aé.ud aegedo (Joint Venture)

Identify the country which does not have an Indian Embassy.

(1) Somalia (2) Pukislun (3) China (4) Bangladesh
s o6 a0e365° & Bitoes® WSS ooasseyes 5"’0‘80@0 &5 ?

(1) BSOS 2y oBYS 3) g 4 mﬂ‘as

LT I — 18-A ||||||||||||||||| '
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g4. Identify the State where port is located state and match the follow1ng

(a)

(b)

(d)

(e)

Group-1

(Port)

Pradeep Port Authority
Deen Dayal Port

Jawahar Lal Nehru Port

(1)
(11)

(1i1)

Shyam Prasad Mukharjee Port (iv)

Kamarajar Port Limited

v)

Group-I1
(State)
Gujarat
Kolkata
TamilNadu
Maharashtra

QOdisha

8,65 B DK espeSore 08 6509 T°aP9)) B3e8DBeS0te.

(a)
(b)
(c)
(d)

(e)

(1)
(2)
(3)

(4)

85.  Who was the incharge of

SS-T

(8s¢5 35)

DO G w5roel
B5 ose 5
23587°Berd I DG
Fg S b Swf
sesooresh G OBE
@ b © @
Giiy (i) @G ™)
Giiy (i) Gv) @)
v) (@) @G @)
v) (i) Gv) (i)

(1)
(ii)
(iii)
(iv)
(v)

(e)

(iv)

(v)

(iii)

(iii)

{§o5-11
@i
esoed
§Sse
SBFT°CD
505

20GoaT°

‘pargana’ during Shersha’s period ?

(1) Faujdar (2) Amil () Mugaddam ~ (4)  Shiqdar
319;' Soe0es® “HEET GB0EY {50 NS
(1)~ gregrb @) o6 G)  Somgs 4) £5b
K-13241-P1 - ey LTI
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86.

Identify the Governors of states and match them with the states of their ruling accordingly.

(a)
)
(c)
(d)

e)

Group-1 Group-11
(Governors) (States)

S. Abdul Najeer (1) Maharashtra
Shri Ramesh bais (1) Andhra Pradesh
Anandiben Patel (il))  Kerala

Arif Mohammad Khan (iv)  Tripura

Shri Satyadev Narain Arya (V) Uttar pradesh

TR ISR &8 oS TR0 W BorT e3esH 80,

(@)
(d)
(c)
(d)

(2)
37
4)

a3 |

t5o%-11
(5556) (©°&90)
S. @20 $e86 ' (D) Sosseorgy )
E1IBS. i)  eogs HAB§
30888 HES (i) 8«
02 Soes g (iv) &Y

8 25338 SrorahHes ety (V) esesb HAT
‘@ (b) () (@ (e

) G @ (v (v

i) @) (v) Gv) @)

i) () Gi) @Gv) (v)

() @G  (v) (i) (iv)

Identify the statements which are correct from the following statements.

(A)
(B)
(C)
(D)

Animals eat other dead animals are called as scavengers.

Bacteria, fungi and earthworms are known as waste decomposers.
Bacteria in human body is always harmful.

Without decomposers and scavengers the dead animals and plants will not be cleaned in
the nature

€t Eobs e3° HBQBYS HideSTrO HYocSod.

(A)
(B)
(&)

(D)

08005 20¢HO% HI HeSE eoehHHOS A S0 woerh.
B pBbmen, Bhogren H005) arsarinen Sggrels HEBEE .
D358 BB By yBsnen 59 EOBJro.

GEotrioly $3805» % Bowby BRSPS SODY WodiHen Hdaky HFe Sy HB
DOBZIOT Goils,

(A), (B) & (C) Only (sSoves ) (2)  (A), (B) & (D) Only (S5g8)
(B), (C) & (D) Only (sores) @ (A), (B), (C) & (D)

20-A T

C} Scanned with OKEN Scanner



88.

89.

90.

91.

Identify the events as these happened during sent and arrange them in Chronological

_“e Indian freedom moven
(A)  Jallianwala Bagh incident

(B)  Subhash Chandra Bose reached to]
(C)  Dandi march by Mahatma Ghandhi
(D) Champaran Satyagraha by Mahatma Ghandhi
(E)  Quit India movement by Gandhiji

(F)  Bhagat Singh, Rajguru and Sukhdev were hanged in Lahore jail
rgeSogss DTE BRI 2BAS BogtsiSerss we wonS wbime §i508" (ot

(A)  2DoHSTEEr 232 Dodoesd

(B) MoBaHS IS why $i3as0 850 kg ogs &7 S B8 52

(C) o5& TPof Tegoe Bod S5oby

(D) o556 o2 WO SoTES Herg(iseo -

(E) mro&e wegoe 8¢ godass Saravods

(F) 256565 0B, TvEthHish So8050 HHAS exss e Bend® €8 BAD BoeS

. - Tndis ational Army
apan for the help of [ndian N

(1) (D), (A), (O), (F), (E), (B) @ (D), (A), (F), (©), (E), (B)
(3)  (A), (D), (E), (B), (F), (©) @) (A), (D), (O), (F), (B), (E)
The chemical name of Baking Soda is .

(1) Sodium Chloride (2)  Sodium Hydrochloride
(3)  Sodium Hydrogen Carbonate (4) Sodium Carbonate

B8k Atz BE), BIPAHS F°%50

(1) de&oso 56 (2) RGO ITEEBE

(3) G TGS STHIE (4) X RG0$H0 SPBHIE

Jowing in which Money Bill cannot be introduced

Identify the fol |
(1) House of the People only (2)  Council of States only
(3) Both (1) and (2) (4)  None of the above

5{35 Saronae 5o &8 806 o 2,8 e DIEDEIETCED, 8 HAES?

(2 oveag 58S Sones Ry

(1) SE B (7 6 & HVO) POy
| @ya DI s

3) (1) 58050 (2) Botsd

Every year on which day, the Indian Army celebrates “Infantry Day” 16 pay homage to the soldiers who fought

for the country and laid down their lives in the line of duty? h
1
(1) 26" January ) 15" August (3) 27" October (4) 30" December
e Bdo B0 DY Ho6E0 aroBiSoie VP ©ORSEIS Ha NoSesyBo gredes Do “pSerol] @~

(SerdSEo Br) & 82 236508 ? P
(1) 26" 23558 (2) 15" estigp ( 7" offeb 4) 30" &do=xb

K-13241-P11-ET 21-A |||||||||||||||||
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92,

9.

9S.

Which of the following Policies has been approved by Union Government of India that aims to boost the
country’s Space Department’s role ?

(1) National Science Policy 2023 (2)  Indian Space Policy 2023

(3)  National Security Policy 2023 (4)  Indian Social Policy 2023

g8 Habgo TgT° rBoriedsd o BN @osdE HOTUS o) eeaHE0R ?
(1) I05S Gy arerd 2023 (2)7 BoAAHS S ared 2023

(3)  IK5S 1ErgBes Arerd 2023 (4)  oGAHS AERS e 2023

Which one of the following statement is not correct about Rigveda ?

(1) Rigveda covering 1028 hymns, 10,560 mantras and 74,000 words.
(2)  The geographical knowledge of the Ri gvedic Aryans does not seen to have extended beyond the Yamuna
River.

(3) Many hymns in Rigveda addressed to Shiva

(4)  Sabha, Samiti and Vidata, the tribal assemblies were existed and controlled the powers of the kings.
&8 800 HBSSSweres® 220003008 0230808 KOS DA ?

(1) 20003geS0es® 1028 3oseen, 10,560 ogren L8051 74.000 HesSnen o).

(2 el estiogo Gl a4 56gPS0 A 56 66 e ey BSB550.
(3) 200358mes® D) FESen BHA 80 DAPDODTON.

() a8, DB 50050 Dgees e HBS Hes (930Den) 2a0AgES sPer065° Treser G3E), BsPESLE

Seereeness® eodaraw.

Which is an Indian initiation to promote Medical Tourism in India ?

(1) Universal Immunisation Program

(2) Healin India

(3)  Ayushman Bharat Yojana

(4)  Pradhan Mantri Swastya Suraksha Yojana

808 S &ES exrdeso DB SoHES Q30D SPBgES00 DB 7
(1) cHeRSBHS atargIERS Sgro

(2) 305 7S Yodassw

BY  e050S 2°8S BreesS

@) DS Do BgQg g Beasd

The Reserve Bank of India undertakes transactions to balance any deficit in its Balance

Of Payments (BOP) is
called transactions.
(1)  Capital Investment (2) Auction sale
(3) Official reserve sale (4) None of the above

82369 ergo§ esd modosw BYoSHRS Iweboes® S%x &N T3 258 SaHzeds BLHS
PSR @03,

(1) 566 3339 Rv0s 2) e5SdS
(3)  ©HRCHS 82bg DS (4 3D

K-13241-P11-ET 22A ~ N
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06 NILP was launched by Gover
. Me p
ent of Indi is the full form of NILP ?

(1) Northeast Indcpendent Living p ain March 2023. What
4 r()g]‘;

(2) New India Literacy Progran b
am

(3) Northern Ireland Labour py ‘
rty

(4) Nestle’s lntemship Leap Prog
ram
NILP e9:0388 2023 H0s
(1) &8 & Bo&DoRos & - o
(2)7 A58 ROGAST® DESE) Py
(3) 0 0g0& S238 0

@) I, W) SIS o

97. Under which article in constitution of India, District Judges are appointed ?

(1) 243 2) 233 @3) 320 (4) None of the above
e5es Tregegotio $S°E0 » e38ES (JexodssS) Trgoe e Segasr RS0 DoHAoH22EE*E 7

(1) 243 (235 2233 (3) 320 4y I D

98. Which of the following is not a measure of Internal Security of India?

(1) Preventing illegal activities in the country

(2) Development of strong mechanism to fight against cybercrimes

(3) Effective implementation of law against corruption

(4)  Protecting Indian citizens residing outside the country

6 800 36" grOSBE oSS FEIL 50230803538 D6?

(1) BéoS® Sty DEOGF o5 SO DB R0

2) pe2b Jored $gBBgo™ P BEFBOSRD Srgiten

B wnb® dEmED SowededS Sepoiss S0t wises £S5
oed® S0 BHER

) e e 30 3

ing nutrients are not contained in milk ?

99.  Which of the followill .
3
- 2) Fat IS s (4) Protein
(1) Calcium ( A %57
@ &9 & G erdS

(1)” seaHo

3-A
» T

K13241-P11-ET
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- %( I ‘” ._\‘dl e oe ’ .

(1) Bihar ‘
(2)  Chhattis g .
R SSEAr  ohe 4) Goa
200 TP e garh (3) Odisha (
] &066;2)& O TS *B%r000505 So * 3er&™ & A
@ $gR%b BY  2Ar 4) B

10. At the time of electr ical h 1rcui
short circuit the Curr i i i

(1) Reduces substantially (2) Does not change

(3)  Increases heavily (4)  Vary continuously
DOFISS h D8ige DoaoS® $8m,gee® (SwosHo) 8808
(1) teaoHore StHedod (2) S8

(3) e B0 UF  Dodsto S e0e00d

11, Name the first Vijayanagara ruler who bore the imperial title of Maharajadhiraja.

(1) Hari Hara (2) Bukka (3) Hari Hara IT (4)  Virupaksha
S LieeBTees” SN SBODS Int5E DesaHSHY e S 7
(1) &8 508 (2) g ()~ BokSHHOZE (4 DEIY

12. The DNA full form is

(1) Deoxyribonucleic Acid 2) Deoxyribonucleic Atom
(3) Double Oxyribo Nucleic Acid (4) Double Oxyribo Nucleic Atom
2259 (DNA) GBng), S8 6o
(1= &035"538856;65"5‘%5 35300 Q) GRS 2385 eveadsd
(3)  Cend esyps’ Smg8S eipe ) end 98 0%° $g8s ernd
13. The price of one country currency in terms of other country currency is known as .
(1) Transfer rate (2) Buyingrate (3) Selling rate (4~ Exchange rate
o B8 5By (56 38 BF €38y ($6&° S0 Bosn DendK __ e90ewd.
(1) 668 (2) &340 (3) o3Pas @) Sroya &S
114. Which one of the following is the correct description of AGNI Missile, which is developed by Defence

Organisation (DRDO) ?
(2) Fastest missile

(3) Long range missile (4) None of the above
Sosercs @) (AGNI) §¢9 580 DO S8 DB ?

(DRDO) cregoe 50578 E
(1) wgen Bed &%ed (Short range missile) (2) Bt550es0 §ed (Fastest missile)

Gy sotsd §ed (Long range missile) 4) 23D 5% (None of the above)

Research and Development
(1)  Short rangeé missile

27-A AOEVHRE Ol

K-13241-P11-ET
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115, Match the following :
Group-I
(Texts) ,
(@) Brahatkathamanjari
() Kathasaritsagara
©

210
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147. 3 of the 4 alternatives given below are related in a certain way and so form ugroup ﬁg;a

does not belong to that group. p—_
8o S w& ga'ga’as';mé' W W 08

(1) Bear (2) Lion

Who is the First Chief Justice of Telangan
(1)  TB. Radhakrishna

@ Scanned with OKEN Scanner
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157.

159.

160.

161.

K-13241-P11-ET 38-A Tmﬁ

e o Poet who was conferred by Padma Vibhushan Award in 1992
W B Andesti (2)  Dr. C. Narayana Reddy
: Kaloii Naravana Reo (4)  Dasarathi Krishnamacharyulu
1002 BodesyB06® HEDETES QB B0 e90tHER) EDD tHBocsods.
@, @0l (2) .. SO a$HEa0G

5°S°8 TOCPODHEI0) (1) ©EER g wGogen

IfEDIT" 1s coded as *7182322°, then in the same way ‘FILM’ is coded as :
EDIT" & 7182322° oo 8% &3], 008 Deforr FILM® By, &%

21141815 (2) 14151821 (3) 15181421 (4) 15142118

Ina certain code, *SMILE" is written as ‘@5*7%’, ‘DOUBT" is written as ‘&3 T 84’ and ‘NOTARY” is writte,
as "$3#2A9°, then , in the same way the word ‘REASON’ is written as -

%8 QR S SMILE” & ‘@5*7%’ @3, ‘DOUBT” % ‘&3 84 e $o0asn ‘NOTARY’ 2 ‘34240
O TN, ©3F forr ‘REASON’ 03 He) 0 SO :

(1) A%23@$ (2) 2%3A%@ 3 A%2@$3 4) A%2@3$%

Who designed Telangana State Police Emblem (logo) ?

(1) Thota Vaikuntam (2)  Surya Prakash
(3)  G.Ravinder Reddy (4) Laxman Aelay
Soorrer o7y S%OR D0 B, ErHES DSG ?

(1 &% 2080 2) K)J‘(Sg RERY
(3). G. 5056 8% @) ofE5 B

Pointing towards a man, a woman said ‘He is the son of my father’s sister’s daughter’. How is the man related
to that women?

(1) nephew (2) cousin
(3) brother-in-law (4) grandson
28 DB S5TDR, 2.8 ), ‘@S> J° o B, ASE Bk, H5eY &»51, HEFBE’ 9B, wand
& BoDEed SFoeTeess? = ey
& J8 & HBD &t @, e— 3{
A1) BDEGBERD HrB578¢% N

(3) oS/ 508 4 a&%\‘m 3 O&"’ :

1
Which of the following is the ability to look at and un erstand a situation or concept from an alternate point
of view?

(1) Independent Aspect (2)  Social Awareness

(3)  Technical training (4) Perspective

28 HODBI Bor 6370 DErgS s &%s0es® St D) 8 §obd Joe3S° thYocSod.
(1)  Xgebogs evoido (2)  eeess SIS

(3)  AroBHE Bgeo (4y R Seso

(} Scanned with OKEN Scanner
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1 66.

168.

169.

170.

| atives given IN‘IUW. which bears the same r(',luti()nship wit t t ir :
) {Ccrne &
y number from the a h h€ ] |

\Vhl‘“\‘\ <
" 1A%
s the relationship that the first

7 v VA
S Be5e8 Bocky Hoage EY errotd Hoeoto erols’ eroed ROOGIRY) 503055 Qogges® 580
&0 ‘.\‘{\.\-'\ ARG Coda) RO 2 -

o terms bear,

Q &5 o
&> & 0y Mol €585 0.
DoRFN DRSO Ao K8

6:15 35 )

I 2 9] B 143 4 77

.

="}

_ }\{m\' many members can be nominated to Rajya Sabha by using His/Her powers of President of Indig 9

B0 ToRINB &3 0storers GOARPA0D) ok Ss0d ReHgersy oresgdess Dasresedo SaHieferds 9
(1) 10 2 11 3 12 4 13

The “Padya Shasanam” which contributed to the ancient status of Telugu language was found at

\
(I) Bommalamma gutta (2)  Thousand Pillars temple
(3) Phanigiri (4)  Khilla Ghanpur
Seh 2R S e oeSEdd &S0 BDS DSy 3050”7 ) ¢ 0DoDoB?
(1) 5"&)&0&& e ) S0ng Koezee) H
(3) He3n0 @) D oG

Which organization is planning to start larger floating Solar Power Plant in Telangana ?

(I) NTPC (2) BHEL (3) Adani Power (4)  None of the above
N B0 BBVES BOOSTE Aerd HSE arodS (Solar Power Plant) & @eyorreges® FE0Docs08 ?
(17 8.8, @) DS9S, 3)  wodBsE @) I

If “student’ is called ‘teacher’, ‘teacher is called ‘principal’, ‘board’ is called ‘chalk’, ‘bench desk’ is called
‘table’, ‘class’ is called ‘house’. Then in this code which of the following options is wrong?

(1) Principal teaches the lessons,
(2)  Teachers sit on the tables,
(3)  Every house has a chalk,
(4) Principal issues transfer ce

Deeg’d "BACRYONE el BIEEY0NE D QIS wd), BER ‘o8 wd, Bod
B’ “Bexnds’ @), ‘e5K5&’2) a0’ @ 1O, &8 8%, 808 e LEONOMY IANCRTAY
(1) é@:&‘avmgofmdb aEeeysy a‘agom ‘

2)  edvgrgasnen Sexerzs S0,
B) B8 90e3e5F co§ 50008,

@ edrrrgatuon Gomga,

rtificates to teachers,

TN 238 598y 238 Syecso.
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176. As per the historian Jai Shetti Ramanaiah, whic h was the first Capital of Satavahana dynasty in Telanga 9
(1) Kotilingala (2) Dharmapuri (3) Vemulawada (4)  Rayapatnam .
S8 55 8 A Boeaasg HE°B0 @Be)0rreaeS° BoessIiine) B0¢5e3 oresred O 2
(1 83O orre) (2) (3(5&0036 (3) SSnersI°CE (4) U"OZSJ&)&)&O

177. A word series is given with a missing word. Choose the correct option that will complete the series.

SD0DS HeSos® o> autl Hes Fed RNFEIA. FeBD HoyeGo B KOBS DAY DocsEDE.

Bag, Book, Bench, Pencil,
(1 Class (2  Eraser (3) Teacher (4)  Student
178. In which century 1000 Pillars Temple was built by Kakatiya Kings ?
(1) 12" Century (2) 13" Century (3) 11" Century (4)  14™ Century
S Feg0e5® Sow Yoererhs STEBAH Trere rgoe Adosedod?
(1) 128 d&°0 2) 135 d&°0 (3¢ 11 d&°gd0 4) 145 d&°0

179. In a class, the ratio of the students who passed in an examination to those who failed in it is 7:2. Among the
passed students, the rank of A is 23 from the top and the rank of B is 28 from the bottom. If all the students of

the class appeared for the examination and the rank of B is 6 ranks below the rank of A then the number of
students in the classis :
28 SEHBS”, 2.8 HOES® GEHBS Dergdhreord® BS 3708 o AYPB 7:2. &RBGBS durgdod’ e

35 Bo0d A B, T°goH 23 Ho805w eac‘.’)‘:g“«‘éo 006 B BoE); 0°goH 28. 565(5RS° Dergoeoe HB4S
5523388 L0805 A G0, T°g0H E0€3 6 T°goHre DHIISS B 0rgoth exoel, S8H5BS Dergoe Sowg :
S 56 2) 84 (S) 2 “4) 81

180. Choose a term from the alternatives given below, which bears the same relationship with the third term as the
relationship that the first two terms bear.

Sphygmomanometer : Blood pressure :: Fathometer : ; "-')" g g
(1) Earthquake (2)  Electric Voltage /7 e
(3) Depth of Sea (4) Intensity of sound g
8005 BNS Bw5E3 Bothy Hore Hogig Derodd Sozofo ol werpf3 :ooa)omb& Boseesd HeSoS® BN
DRy 0E)see 5308 K589 ok 6
N S S0erb : BEDEE :: Yoo : 4%
(1) 25Soaren 2) ey g3 2
By  SHNE %> @) 3D Bwg), Bses \%
181. Which of the following is related to “DHRUVA” Portal Belongs to Telangana Goveriment?
(1)  Land Registration (2)  Passport Verification glg
(3)  Online Employment (4) Human Trafficking

Berorres HeHEPIOS8 K5020B00S “GyS "AEES B8 HooRodol?
(,1_/)/ 2Sssone B28R9IRS (Land Registration)

2) §3°'§ 308X (Passport Verification)

() @S BS Ddogronsdhod (Online Employment)

(4) HeSS 98 Ea°E (Human Trafficking)
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> Py Pa, Pay Ps, P

P; are seven di
seven differ
rent houses situated as described below-

P, 1\ O m. away from P, in the South of p
iy Pais 15 m. away from P; in the East ofPl'
13

11) D, 1S \’ 7, ‘
i) Pais ONZm. away from Py in the North-East of P
3.

) Psis 14 m. away from Py in the East of P

) Peis 6 m. away from Ps in the North of P4.

i) P7is 27 m. away from Pg in the West of P5

Then the shortest distance (in mts) between P a;d Pris:

P,. P2, P3, P4, Ps, .
s, P, Ps, Pe, P70 ¢ DK ey ot D80S egorr 0%

i) Py & &8esorr Py ok 6 S'saeag B58065° P, &0d.
() P2 rdy) 8%S® P, 908 15 Zbeog &S5ot5065° P3 &0

i) Ps & Seaedgore Ps K008 6+/2 Bototf ei506® P és0B.
(V) Pu Sy BFS° Py S306 14 Qoo (eosS” Ps €08,
(v)  Ps& &etorm Ps ook 6 Qoes8 580’ Ps 508.

) Pe DER0S BFS® Ps 508 27 Doex§ (52508° Pr 0B,

wond Pr $8050 Pr © S65g e 835 cirdo (Doerge”) :

(1) g

¥ s

(3) 13 (4)

196. Match the following Slogan given by the great Indian Leaders :

Group-I
(Slogan)
(a) Jaijagat
(b) Kar matdo
(c) Vedonkivor Lauto

(d) Desh Bachao, Desh Banao
&8 8ol Do, @ DSBDS T°

fie>-1
(Dayetso)

(a) B268

b) EBHEE

© se & 56 e 5/

d) BF s, BB 2°

@@ 0 (© (d)
7 Gi) Gy @ O
@) @) v @ (i)
@) G @ ) (ii)
@ G @ ) (i)

W.12941.P11-ET

Group-11

(Leader)

Dayanand Saraswati
P.V. Narasimha Rao
Binova Bhave

Sardar Vallabhbhai Patel

SHHIE 23SDEY0E.

tisee>-11

(~eaHgedd)
Basd0es HEOYB
2,9, $60:3F0°%)
DS g

Sgrb Sgasaron HES

45-A
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as the human tendency to understand and share the feelings of another?

. . . e 16 Jfined
‘ T i h((ik) | Therapy (3) Pity (4)  Apathy
(1) Itmlmlh; - 3;\,1;56‘:650 L8050 D80 10083 S5 DA &3 808 aoe3e5° “Jgoéoa,.
. 36°50 gyesre) go : 5 ( st
(1) ddoelrd (2) D8y 3) e 4@
198. Study the following information and zms)wer the question given below.

P

199.

200.

‘A*B’ means ‘A is greater than B’/

‘A#B’ means ‘A is not greater than B

‘A%B’ means ‘A is less than B’

‘A$B’ means ‘A is not less than B’

‘A@B’ means ‘A is neither greater than nor less than B’.

IfP% Q#R @S $T*Uis given B
then, which of the following statement need not be true. &

808 J&eeoR)) eeigahdo BN, §ots BHIES HHD RSgrd ooy,

‘A*B’ @063 ‘B Eoe3 A 2R’ e\ M&M> : %% (S B
"A#B’ @063 ‘B €063 A 16 s°eky’ ST
"A%B’ @063 ‘B %065 A DB’ goreM
"ASB’ @063 ‘B $0é3 A D0 5ok’ B (§ oo A

8o AR >
‘A@B’ @0¢3 ‘B 063 A DEO 5°60; DY s°¢%’ = \, “
283¥P % Q#R @ ST * U 5y, (5 A
2008 oBTVS® DB Ke5HH eSS0 ek,
(1) S$Q (2) R*P /3‘(?%5 4 Qeu
Identify the Tiger Reserve Forests in Telangana State :
(1) Srisailam Tiger Reserve only (2) Kaval Tiger Reserve only
(3) Amrabad Tiger Reserve only (4)  All of the above

S0omres U0 &° yene wArEERgRS HBoSod |
() 230 Heve wziairteago S  (2) Eag5 AP Seago H0¢83s
3) ohirerd ©easrEeago SeggSs /(M RN

3 of the 4 alternatives given below are related in a certain way and so form a group. Find the alternative which
does not belong to that group. :

§o88 BN Trenth Yargsimatres® Sawes BEgRT0sren 28 DY Eroes” SozoreR)y SO erotsco
05 28 DB DEYEEEAD. 85 BZFHEDE Bk DSPgRTNAETRY) E505%,08.
(I) EGB ‘ (2) KMB 3) QSB A4 OSB
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